SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

SCHEDULE 13D

(Rule 13d-101)

INFORMATION TO BE INCLUDED IN STATEMENTS FILED PURSUANT TO § 240.13d-1(a) AND AMENDMENTS THERETO FILED PURSUANT TO § 240.13d-2(a)

Under the Securities Exchange Act of 1934 (Amendment No. 4)*

Mondelez International, Inc.

(Name of Issuer)

Common Stock, par value \$0.01 per share (Title of Class of Securities)

609207105 (CUSIP Number)

Stephen Fraidin, Esq.
Steve Milankov, Esq.
Pershing Square Capital Management, L.P.
888 Seventh Avenue, 42nd Floor
New York, New York 10019
(212) 813-3700

With a copy to:

Richard M. Brand, Esq. Cadwalader, Wickersham & Taft LLP One World Financial Center New York, New York 10281 (212) 504-6000

(Name, Address and Telephone Number of Person Authorized to Receive Notices and Communications)

September 25, 2017 (Date of Event which Requires Filing of this Statement)

f the filing person has previously filed a statement on Schedule 13G to report the acquisition which is the subject of this Schedule 13D, and is filing this chedule because of §§240.13d-1(e), 240.13d-1(f) or 240.13d-1(g), check the following box.
Note: Schedules filed in paper format shall include a signed original and five copies of the schedule, including all exhibits. See §240.13d-7 for other parties to whom copies are to be sent.

The remainder of this cover page shall be filled out for a reporting person's initial filing on this form with respect to the subject class of securities, and for any subsequent amendment containing information which would alter disclosures provided in a prior cover page.

The information required on the remainder of this cover page shall not be deemed to be "filed" for the purpose of Section 18 of the Securities Exchange Act of 1934 ("Act") or otherwise subject to the liabilities of that section of the Act but shall be subject to all other provisions of the Act (however, see the *Notes*).

CUSIP	No.	(6092	07105			
1	NAME OF REPORTING PERSON						
	Pershing Square Capital Management, L.P.						
2				PROPRIATE BOX IF A MEMBER OF A GROUP (SEE INSTRUCTIONS)			
	(a) 🗆	(b)) 🗆				
3	SEC USE ONLY						
4	SOUR	CE OF	'FUI	IDS (SEE INSTRUCTIONS)			
	00 (9	Soo Ita	am 5				
5				OSURE OF LEGAL PROCEEDINGS IS REQUIRED PURSUANT TO ITEMS 2(d) OR 2(e)			
	П						
6		ENSHI	PΩI	PLACE OF ORGANIZATION			
ŭ	01112		0.				
	Delav	vare					
			7	SOLE VOTING POWER			
NUMBER OF			NONE				
	SHARE		8	SHARED VOTING POWER			
	NEFICIA WNED			04.050.245			
	EACH		9	84,056,345 SOLE DISPOSITIVE POWER			
	REPORTING PERSON		J	SOLE DISTOSITIVE TOWER			
	WITH			NONE			
			10	SHARED DISPOSITIVE POWER			
			84,056,345				
11							
12	84,056,345						
12	2 CHECK IF THE AGGREGATE AMOUNT IN ROW (11) EXCLUDES CERTAIN SHARES (SEE INSTRUCTIONS)						
13	3 PERCENT OF CLASS REPRESENTED BY AMOUNT IN ROW (11)						
	5.6%*						
14			POF	TING PERSON (SEE INSTRUCTIONS)			
	TIL OF REPORTING LERSON (SEE INSTRUCTIONS)						
	ITA						

^{*} This calculation is based on 1,507,639,931 shares of common stock, par value \$0.01 per share ("Common Stock"), outstanding as of July 28, 2017 as reported in the Issuer's Quarterly Report on Form 10-Q filed on August 2, 2017 for the quarterly period ended June 30, 2017.

CUSIP	No.	(5092	07105			
1	NAME OF REPORTING PERSON						
	PS Management GP, LLC						
2				PROPRIATE BOX IF A MEMBER OF A GROUP (SEE INSTRUCTIONS)			
	(a)						
3	SEC USE ONLY						
4	SOUR	CE OF	FU	NDS (SEE INSTRUCTIONS)			
	00 (9	Soo Ita	am F				
5				LOSURE OF LEGAL PROCEEDINGS IS REQUIRED PURSUANT TO ITEMS 2(d) OR 2(e)			
	П						
6		ENSHI	P OF	R PLACE OF ORGANIZATION			
ŭ	01112						
	Delav	vare					
			7	SOLE VOTING POWER			
NU	UMBER	ROF		NONE			
SHARES			8	SHARED VOTING POWER			
	NEFICIA WNED			04.050.245			
	EACH		9	84,056,345 SOLE DISPOSITIVE POWER			
	EPORTI PERSO		J	SOLE DISTOSITIVE TOWER			
	WITH			NONE			
			10	SHARED DISPOSITIVE POWER			
			84,056,345				
11 AGGREGATE AMOUNT BENEFICIALLY OWNED BY EACH REPORTING PERSON							
12	84,056,345						
12	2 CHECK IF THE AGGREGATE AMOUNT IN ROW (11) EXCLUDES CERTAIN SHARES (SEE INSTRUCTIONS)						
13	3 PERCENT OF CLASS REPRESENTED BY AMOUNT IN ROW (11)						
	5.6%*						
14							
	TIL OF ALL ONLING FEROON (OLD INOTICOTION)						
	100						

^{*} This calculation is based on 1,507,639,931 shares of Common Stock outstanding as of July 28, 2017 as reported in the Issuer's Quarterly Report on Form 10-Q filed on August 2, 2017 for the quarterly period ended June 30, 2017.

CUSIP	No.	6092	207105				
1	1 NAME OF REPORTING PERSON						
	William A. Ackman						
2	CHECK THE APPROPRIATE BOX IF A MEMBER OF A GROUP (SEE INSTRUCTIONS) (a) □ (b) □						
	` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` ` `						
3	SEC USE ONLY						
4	SOURCE O	F FU	NDS (SEE INSTRUCTIONS)				
	OO (See It	em :	3)				
5			LOSURE OF LEGAL PROCEEDINGS IS REQUIRED PURSUANT TO ITEMS 2(d) OR 2(e)				
6	CITIZENSH	IP O	R PLACE OF ORGANIZATION				
	United Sta	tes					
		7	SOLE VOTING POWER				
NU	UMBER OF		NONE				
	SHARES NEFICIALLY	8	SHARED VOTING POWER				
O	OWNED BY EACH		84,056,345				
	EPORTING	9	SOLE DISPOSITIVE POWER				
	PERSON WITH		NONE				
		10	SHARED DISPOSITIVE POWER				
			84,056,345				
11	AGGREGATE AMOUNT BENEFICIALLY OWNED BY EACH REPORTING PERSON						
	84,056,345						
12	CHECK IF THE AGGREGATE AMOUNT IN ROW (11) EXCLUDES CERTAIN SHARES (SEE INSTRUCTIONS)						
13	3 PERCENT OF CLASS REPRESENTED BY AMOUNT IN ROW (11)						
	5.6%*						
14	TYPE OF REPORTING PERSON (SEE INSTRUCTIONS)						
	IN						

^{*} This calculation is based on 1,507,639,931 shares of Common Stock outstanding as of July 28, 2017 as reported in the Issuer's Quarterly Report on Form 10-Q filed on August 2, 2017 for the quarterly period ended June 30, 2017.

This Amendment No. 4 to Schedule 13D (this "Amendment No. 4") amends and supplements the statement on Schedule 13D (the "Original Schedule 13D"), filed on August 6, 2015 (the Original Schedule 13D, as amended and supplemented through the date of this Amendment No. 4, the "Schedule 13D"), by Pershing Square Capital Management, L.P., a Delaware limited partnership ("Pershing Square"); PS Management GP, LLC, a Delaware limited liability company ("PS Management"); and William A. Ackman, a citizen of the United States of America (together with Pershing Square and PS Management, the "Reporting Persons"), relating to the Class A common stock, no par value (the "Common Stock"), of Mondelez International, Inc., a Virginia corporation (the "Issuer"). Capitalized terms used but not defined in this amendment shall have the meanings set forth in the Schedule 13D.

Except as specifically amended by this Amendment No. 4, the Schedule 13D is unchanged.

Item 1. Security and Issuer

Item 1 of the Schedule 13D is hereby amended and supplemented to add the following information:

As of September 26, 2017, the Reporting Persons beneficially own an aggregate of 84,056,345 shares of Common Stock (the "<u>Subject Shares</u>"), which number includes: (i) 13,927,445 shares of Common Stock, and (ii) 70,128,900 shares of Common Stock underlying American-style call options.

The Subject Shares represent approximately 5.6% of the issued and outstanding shares of Common Stock of the Issuer.

Item 3. Source and Amount of Funds or Other Consideration

Item 3 of the Schedule 13D is hereby amended and supplemented to add the following information:

The source of funding for the transactions reported herein was derived from the respective capital of the Pershing Square Funds.

Item 5. Interest in Securities of the Issuer

Item 5(c) of the Schedule 13D is hereby amended and supplemented by adding the following information:

(c) Exhibit 99.9, which is incorporated by reference into this Item 5(c) as if restated in full, describes all of the transactions in the Common Stock or derivatives relating to Common Stock that were effected in the past 60 days by the Reporting Persons for the benefit of the Pershing Square Funds. Except as set forth in Exhibit 99.9 attached hereto, no reportable transactions were effected by any Reporting Person within the last 60 days.

Item 6. Contracts, Arrangements, Understandings or Relationships With Respect to Securities of the Issuer.

The Reporting Persons, for the accounts of the Pershing Square Funds, extended the maturity of certain American-style call options and unwound certain American-style call options as further detailed in Exhibit 99.9.

None of the options gives the Reporting Persons direct or indirect voting, investment or dispositive control over any securities of the Issuer or requires the counterparty thereto to acquire, hold, vote or dispose of any securities of the Issuer.

Item 7. Material to be Filed as Exhibits

Item 7 of the Schedule 13D is hereby amended and supplemented by adding a reference to the following exhibit:

Exhibit 99.9 Trading data.

SIGNATURE

After reasonable inquiry and to the best of each of the undersigned's knowledge and belief, each of the undersigned certify that the information set forth in this statement is true, complete and correct.

Dated: September 26, 2017

PERSHING SQUARE CAPITAL MANAGEMENT, L.P.

By: PS Management GP, LLC, its General Partner

By /s/ William A. Ackman

William A. Ackman Managing Member

PS MANAGEMENT GP, LLC

By /s/ William A. Ackman

William A. Ackman Managing Member

/s/ William A. Ackman

William A. Ackman

INDEX TO EXHIBITS

<u>Exhibit</u>	<u>Description</u>
Exhibit 99.1	Joint Filing Agreement, dated as of August 6, 2015, among Pershing Square, PS Management and William A. Ackman.*
Exhibit 99.2	Trading data.*
Exhibit 99.3	Form of Forward Purchase Contract.*
Exhibit 99.4	Form of Call Option Contract.*
Exhibit 99.5	Form of Amendment to Forward Purchase Contract.*
Exhibit 99.6	Trading data.*
Exhibit 99.7	Trading data.*
Exhibit 99.8	Trading data.*
Exhibit 99.9	Trading data.

^{*} Previously filed.

Name	Trade Date	Buy/Sell/Exercise	No. of Shares / Quantity			Strike Price	Trade Amount	Security	Expiration Date
Pershing Square International, Ltd.	August 8, 2017	Sell	84,975	\$	43.87	N/A	\$ 3,727,835	Common Stock	N/A
Pershing Square International, Ltd.	August 14, 2017	Sell	139,666	\$	43.82	N/A	\$ 6,120,693	Common Stock	N/A
Pershing Square International, Ltd.	August 15, 2017	Sell	103,951	\$	43.80	N/A	\$ 4,553,146	Common Stock	N/A
Pershing Square International, Ltd.	August 16, 2017	Sell	70,800	\$	44.25	N/A	\$ 3,133,026	Common Stock	N/A
Pershing Square International, Ltd.	August 17, 2017	Sell	8,894	\$	44.07	N/A	\$ 391,924	Common Stock	N/A
Pershing Square International,	August 30, 2017	Buy	209,795	\$	41.25	N/A	\$ 8,654,044	Common Stock	N/A
Ltd. Pershing Square International,	August 30, 2017	Sell to Close	15,556	\$	11.59	\$ 30.00	\$ 18,028,342	Listed Call Option	September 6, 2017
Ltd. Pershing Square International,	August 30, 2017	Sell to Close	15,053	\$	11.59	\$ 30.00	\$ 17,445,399	Listed Call Option	September 13, 2017
Ltd. Pershing Square International,	August 30, 2017	Sell to Close	12,835	\$	11.59	\$ 30.00	\$ 14,874,888	Listed Call Option	September 20, 2017
Ltd. Pershing Square International,	August 30, 2017	Buy to Open	15,064	\$	11.86	\$ 30.00	\$ 17,866,529	Listed Call Option	January 10, 2018
Ltd. Pershing Square International,	August 30, 2017	Buy to Open	15,111	\$	11.86	\$ 30.00	\$ 17,922,273	Listed Call Option	January 17, 2018
Ltd. Pershing Square International,	August 30, 2017	Buy to Open	12,468	\$	11.87	\$ 30.00	\$ 14,793,799	Listed Call Option	January 24, 2018
Ltd. Pershing Square International,	September 19, 2017	Sell to Close	2,721		10.61			Listed Call Option	September 20, 2017
Ltd. Pershing Square International,	September 20, 2017	Sell to Close	775,000		3.89			OTC Call Option	October 6, 2017
Ltd. Pershing Square International,	September 21, 2017	Sell to Close	736,434		3.74			OTC Call Option	October 6, 2017
Ltd. Pershing Square International,	September 22, 2017	Sell to Close	13,566		3.75			OTC Call Option	October 13, 2017
Ltd.								•	
Pershing Square International, Ltd.	September 22, 2017	Sell to Close	755,000		3.61			OTC Call Option	October 13, 2017
Pershing Square International, Ltd.	September 25, 2017	Sell to Close	302,000		3.74			OTC Call Option	October 13, 2017
Pershing Square International, Ltd.	September 26, 2017	Sell to Close	166,000	\$	4.11	\$ 36.64	\$ 682,924	OTC Call Option	October 13, 2017
Pershing Square, L.P.	August 15, 2017	Sell	45,042		43.80	N/A	\$ 1,972,880	Common Stock	N/A
Pershing Square, L.P. Pershing Square, L.P.	August 16, 2017 August 17, 2017	Sell Sell	56,994 6,956		44.25 44.07	N/A N/A	\$ 2,522,086 \$ 306,524	Common Stock Common Stock	N/A N/A
Pershing Square, L.P.	August 30, 2017	Buy	182,914		41.25	N/A	\$ 7,545,203	Common Stock	N/A N/A
Pershing Square, L.P.	August 30, 2017	Sell to Close	14,010		11.59		\$ 16,236,633	Listed Call Option	September 6, 2017
Pershing Square, L.P.	August 30, 2017	Sell to Close	11,668			\$ 30.00	\$ 13,522,415	Listed Call Option	September 13, 2017
Pershing Square, L.P. Pershing Square, L.P.	August 30, 2017 August 30, 2017	Sell to Close Buy to Open	11,560 13,134		11.59 11.86	\$ 30.00 \$ 30.00	\$ 13,397,250 \$ 15,577,469	Listed Call Option Listed Call Option	September 20, 2017 January 10, 2018
Pershing Square, L.P.	August 30, 2017	Buy to Open	13,175	\$		\$ 30.00	\$ 15,626,097	Listed Call Option	January 17, 2018
Pershing Square, L.P.	August 30, 2017	Buy to Open	10,870	\$	11.87	\$ 30.00	\$ 12,897,706	Listed Call Option	January 24, 2018
Pershing Square, L.P.	September 19, 2017	Sell to Close	2,450	\$	10.61	\$ 30.00	\$ 2,599,582	Listed Call Option	September 20, 2017
Pershing Square II, L.P.	August 30, 2017	Buy	11,881	\$	41.25	N/A	\$ 490,091	Common Stock	N/A
Pershing Square II, L.P.	August 30, 2017	Sell to Close	774		11.59		\$ 897,013	Listed Call Option	September 6, 2017
Pershing Square II, L.P.	August 30, 2017	Sell to Close	930		11.59		\$ 1,077,806	Listed Call Option	September 13, 2017
Pershing Square II, L.P.	August 30, 2017	Sell to Close	767	\$	11.59			Listed Call Option	September 20, 2017
Pershing Square II, L.P. Pershing Square II, L.P.	August 30, 2017 August 30, 2017	Buy to Open Buy to Open	853 856	\$ \$		\$ 30.00 \$ 30.00	\$ 1,011,693 \$ 1,015,252	Listed Call Option Listed Call Option	January 10, 2018 January 17, 2018
Pershing Square II, L.P.	August 30, 2017	Buy to Open	706		11.87	\$ 30.00	\$ 837,698	Listed Call Option	January 24, 2018
Pershing Square II, L.P.	September 19, 2017	Sell to Close	163	\$	10.61	\$ 30.00	\$ 172,952	Listed Call Option	September 20, 2017
Pershing Square Holdings, Ltd.	August 8, 2017	Sell	177,784	\$	43.87	N/A	\$ 7,799,346	Common Stock	N/A
Pershing Square Holdings, Ltd.	August 14, 2017	Sell	163,825	\$	43.82	N/A	\$ 7,179,432	Common Stock	N/A
Pershing Square Holdings, Ltd.	August 15, 2017	Sell	201,007	\$	43.80	N/A	\$ 8,804,285	Common Stock	N/A
Pershing Square Holdings,	August 16, 2017	Sell	167,206	\$	44.25	N/A	\$ 7,399,163	Common Stock	N/A
Ltd. Pershing Square Holdings,	August 17, 2017	Sell	47,680	\$	44.07	N/A	\$ 2,101,071	Common Stock	N/A
Ltd. Pershing Square Holdings,	August 30, 2017	Buy	301,410	\$	41.25	N/A	\$ 12,433,163	Common Stock	N/A
Ltd. Pershing Square Holdings,	August 30, 2017	Sell to Close	20,354	\$	11.59	\$ 30.00	\$ 23,588,896	Listed Call Option	September 6, 2017
Ltd. Pershing Square Holdings,	August 30, 2017	Sell to Close	23,199	\$	11.59	\$ 30.00	\$ 26,886,057	Listed Call Option	September 13, 2017
Ltd. Pershing Square Holdings,	August 30, 2017	Sell to Close	16,794	\$	11.59	\$ 30.00	\$ 19,463,099	Listed Call Option	September 20, 2017
Ltd. Pershing Square Holdings,	August 30, 2017	Buy to Open	21,643		11.86			Listed Call Option	January 10, 2018
Ltd. Pershing Square Holdings,	August 30, 2017	Buy to Open	21,708		11.86			Listed Call Option	January 17, 2018
Ltd. Pershing Square Holdings,	August 30, 2017	Buy to Open	17,912		11.87			Listed Call Option	January 24, 2018
Ltd.	_	Sell to Close						•	• •
Pershing Square Holdings, Ltd.	September 19, 2017	Sell to Close	3,560	Þ	10.61	\$ 30.00	\$ 3,777,352	Listed Call Option	September 20, 2017